H.
&
5
ik
T
=t
X
&

MR :1/2500 ERERORE |Lhh
y HIBFEES  [132464A660402079
2 ERIES BERE
- R = E PRzt RETIRETBIR

= ql15.3

4 g U7 2 s 1 ! E?m_; i : e
WG $ "ﬁ\ﬁ SR 1) '@’j‘?&} A
- THESIY i 2 N \\“I\ﬂifL‘\/ W
. o {Nr/j S i

N

- 508.8

365,

363.3

X & & R A

E::::j.i@ﬁ%%ﬁzﬁ

S

- TRKEENZERRE (BBNEIXSES) —
4 L EROBERImERZ BRI
[T REisfems L pmans nas
e A B h B A
4 T s
- | | zhosnoxs
EBR EER<
3 TREDHORESORT
S ENES| A ® |Ep&=| & | ®
1) 39.5 1.0
3
NOEHE LR

() LERICEVEEMIVEATHEBESNDADIHEHRDELD N/m)
(B) (AL LEZEEMIERTIBENLIERDBE (m)

ERERE
- EREAR
ERES
0 50 100 m %/_\ﬂzﬁ E
Y 1/2 500 ETRES
I
1/ 1

ERE



